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Refer to the Product Label below to complete the tasks and answer the following questions. Show 
your calculations. 

 
 

1. Convert the packet size to grams. 
 
 
 
 

2. Convert 50-70 pounds to metric.  
 
 
 
 
 

3. What is the recommended ratio of packets to kilos? 
 
 
 
 

4. You have 160 kg of cement product. How many packets of QuickSET are needed? 
 
 
 
 

5. The cement mixer has a 3.5 cubic foot capacity and will hold two 90 pounds bags of mix with 
water. To the nearest whole number, how many loads do you need to mix to use the 160 kg of 
cement product? 

 

 

 

 

 

HANDOUTS: Mixing Cement (2 pages) 
Skill Builders: Conversion, Percentages 

IN THE WORKPLACE: Errors in conversion can result in significant costs to a company in lost time 
and product. Accurately taking, interpreting and converting measurements between imperial and 
metric systems are fundamental skills across the trades. 
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Ref: Bow Valley College. (2020). QuickSET Product Label. Calgary, Canada: Author.  


	2.1 x 28.35 = 59.54 g
	Conversion factor is 1 kg =2.2 lb.
	50 lb. = 22.73 kg
	4 per 22.73 kg – 31.82 kg bag OR
	20 – 28.
	Since you cannot exceed 4 packets of QuickSET per 50 lb.-70 lb. (22.73 kg-31.82 kg) bag of cement product, you must round down to the nearest whole number (i.e., you cannot add more packets of QuickSET to the mixture than specified).
	2 loads

